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function v = Equalizer(x, fs, gain)

f Equalizar(x,fs,gain):
q (x,fs,gain) fft_size = 2 " ceil(log2(length(x)))

fft_size = 2**np.ceil(np.log(len(x)))
fc= np.array( [@, 32, 64, 125, 250, 500, 1000, 2000, 4000, 8000, 16000]) fc = [0; 32; 64; 125; 250; 500; 1000; 2000; 4000; 8000; 16000];
gain2 = np.append(©,np.ravel(gain,order="F")) gainZ = [0; gain(:)];
else
fc = [0; 32; 64; 125; 250; 500; 1000; 2000; 4000; 8000; 16000; fs / 21;
gain2 = [0; gain(:); gain(end)];

else:
fc = np.array([@, 32, 64, 125, 250, 500, 1000, 2000, 4000, 8000, 16000, fs / 2])
gain2 = np.append(©, np.ravel(gain,order='F'), gain[end])

end
spec_x = np.fft.fft(x)
w = np.array([e , fft_size / 2]).T* fs / fft_size spec_x = fft(x, fft size);
weighting_spec_half = 10 **(scp.interpolate.interp2d(fc, gain2, w, kind='linear') / 20) w=(0: fft_size / 2)" % fs / fft_size;
weighting_spec = array([weighting_spec_half , weighting_spec_half[end - 1 , -1 : 2]]) weighting_spec_half = 10 ." (interpl(fc, gain2, w, "linear’) / 20);

weighting spec = [weighting_spec_half ; weighting_spec_half(end - 1 : -1 :

return np.real(np.fft.ifft(spec_x * weighting_spec))
y = real (ifft(spec_x .* weighting_spec));

File "C:\Users\JunIﬁamori\Desktop\voiceEf\voiceEf.py", line 27, in Equalizar
weighting_spec_half = 10 **(scp.interpolate.interp2d(fc, gain2, w, kind='linear') / 20)

File "C:\Users\JunInamori\AppData\Local\Programs\Python\Python37\1lib\site-packages\scipy\interpolate\interpolate.py”, line 228, in __ init _
"Invalid length for input z for non rectangular grid")
ValueError: Invalid length for input z for non rectangular grid
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